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CALCUL LITTERAL - IDENTITES REMARQUABLES EXERCICE 4
CORRIGE - M. QUET
EXERCICE 1 (a+b)? = a% + 2ab + b? EXERCICE 3 (a+b) (a—b) = a% — b?
Exemple : B = 1022 Exemple : B =105 x 95
A =1012 B = (100 + 2)2 A=101x99 B =(100+ 5) (100 -5)
A=(100 +1)* B = 1002 + 2x100x2 + 2> A=(100+1)(100-1) B=1007 - 57
A=1002+200+1 B=10000+400+4 A=1002_12 B=10000- 25
A=10201 A=9999
C=512 D =1 0052 C=51x49 D =107 x 93
C=(50+1)2 D = (1000 + 5)? C=(50+1)(50-1) D=(100+7) (100-7)
C=50%+2x50x1+1%  |D=1000% + 2x1000x5 + 52 C=50"-1? D =100%-7?
C=2500+100+1 D =1 000 000 + 10 000 + 25 C=2500-1 D =10000-49
C=2601 D=1010025 C=2499 D=9951
E=2012 F = 1092 E =498 x 502 F=1007 x 993
E=(200 +1)2 F=(100 +9)2 E=(500 +2) (500 - 2) F=(1000+7)(1000-7)
E = 2002 + 2x200x1 + 12 | F=1002 + 2x100x9 + 92 E=5007 -2 F=1000% -7
E=40000 +400+1 F=10000 + 1800 + 81 E=250000-4 F=1000000-49
E =40 401 F=11881 E=249996 F =999 951
EXERCICE 2 (a—b)?=a%?-2ab + b? EXERCICE 4 a%-b? = (a+b) (a—b)
Exemple : B =982 Exemple : B = 1052 - 952
A =992 B = (100 — 2)? A =101%2-992 B = (105 + 95) (105 — 95)
A=(100-1) B = 1002 — 2x100x2 + 22 A=(101+99)(101-99) B =200 x 10
A =100>-200+1 B =10 000 — 400 + 4 A =200 x 2 8 =2 000
A =10000-200 + 1 B =9 604 A =400 -
A=9801
C =492 D = 9902 C=2352-2342 D=472-532
C=(50-1)2 D = (1 000 — 10)? C=(235+234) (235-234)| B=(47 +53) (47 - 53)
C=50%-2x50x1+1? |D=1000%-2x1000x10+ 10? C=469x 1 B =100 x (-6)
C=2500-100+1 D = 1 000 000- 20 000+ 100 C 2 469 B < —600
C=2401 D =980 100
E =1992 F=912 E=98762—-9 8752 F=932-1072
E=(200-1)? F=(100-9)2 E = (9876 + 9875) x B =(93 + 107) (93 - 107)
E=2002-2x200x1 + 1% | F=100% - 2x100x9 + 92 (9876 — 9875) B = 200 x (~14)
E =40 000 -400 + 1 F=10000- 1800 + 81 EC19751x 1 B <800
E=39601 F=8281
E=19 751






